7.7 Limor Eguokions : pure Ls Aok o

o il e e gooph o W T

\/ = M(X‘(' b' C\"\O( \/: MZX+LZ
;44—6\’%0{’/ w It N To S3lue ﬁ)r X ia \{"‘Q\L 'e/?M’IL‘.d"

M Xth, = WMax th, .

P\'C}l@r\' QU\]& N
O(p) 53)

!

M o:rL\Hr\L ()000!1'./\0\"]15 b( ‘f‘ﬁ,‘s
:Pb;ll’\’?

Gret Yo Xs sn o sl Sublmot myx {oun bath
54‘0095 ‘JLD %/‘L‘}

M‘)("W\zX‘,’Z‘D' :“IDZ
Sublmek b fam beth sds to g

é' M, X— Mz X :Lz“b‘

folor out on x o e e fo gt

(M|/M2)X = -lDZ-L,
/‘P(buichc‘\“f&.o& ]{M$ aLe M"‘(" ?r.ﬂav@l) ""l“""‘z ?‘[D) S0 we
con divcl Lsta sro“i Lu,b w2 P gt

x= bebi

V"\l —MZ



Once yon have Hhe x-csoedinede, phy (o eiffer

(I‘M <'J7':> ?(‘l' % 7‘(604‘01{\/1@\-}(, ugL @
€g:: {lx)= 5x-%) glx) = 542 |

iﬁc )(/COC,(A;AW&& of e ?ainvl b? lergection s

_ % —2 — o - S
Kogoe "= -
(,’//'I___ T e ST s
SX/S/ :BX’(‘Z

= X = 124 = . .
— ~ = ~Spt
Ego y=2p 7t 77T X

=% lp =25
_ = 25
=2 P 1

2. Exponeatil Func Hion®
7 ém“\’gx Mm)d S & "(:JVKZ";'O'\ a-p“fe\l

f(\c): Céxx/ CeR [«a.

Eﬂ(?m\ew ‘HO«\

foren

l? ) ( P Zx — \7”%5 “JCV\C‘LW\ egq::o,{—\\%l Yebes. M a
%:w{;/ GAJL V\M&N{EF“@S 2 LY \‘k@l\C %+Y Wlﬁfg A



() =27/
(2)=2"= 5=y
f aaiwvﬂ

Jn pachedlas, expoactil funchins  alioys hae o Gomonr

7{[)(/ - a‘/ Y/f(o)= a®=.
”:\/ & ?ourcu\ €><ré>f\b«\ka\ ')Cmc'({m
{k)=C, £€)=(=0C
W call Sthis vslwe € he imJ*io«/ &lue
‘fﬁ& Jaciable % @il o@\-m sland -gr' o Number a{? Jame
perield a
‘(’f\k bose & D colled % Sf_@’ie‘ \K;c\@ar) N"e\:& 1S
o Aschr by ik ] s MHF\:(A J alsloin 7 lxch)

{(x\t\): F M = ?{ﬂxo\ = o\%&/
Ohen o aSsumwes Tt Fha  €xposentiel Lurction
F&)= CL )
r’? MOObalS SomMe ?Lmﬁmv\o\/\ (A .\qu‘lo«\:,[t %W\L/ ijfh

boks Ik &
(o, C) [/




A

Y 72)( @
y=3"
Y=Y

\\

\ t

X

VX
Qg,-" EM( & mede] ‘é\' % -Fs”()o"fg e)(PWJ-{J jm*)*(‘\

Si '3“()1\5~

1) A backrial infecton Shels /100 baclerta ped

‘*"ﬁf\eS @RFES ‘rwu.c

?M) =T, afg

P =100

Given %2 .

AHec | oac,  P() = 300 Pl = ,0032
/‘HCF ¥, l’)ov\r% r:)D(Z) = 900

/H—-cr 2 hows ) F(s) = 2100

£> A ?ano‘. < S‘!-ccj‘mcl LJ/ LS o1 'jGSL an,o[ cqcl\ year
+€\L \CS\Q %?a\q\}{a/\ mnereaseS L& 203,
?(%3320:6/ / P =S8vo.

%{ ZQZ: %C;Q; :’(g’ "z
Prem e ROs)= R(%)

b . 2o v 210%) = R+ )= R(EY %)
po BT R = R(% )"



This delle us Vit o= G- So G
?@) = 58’00((”/5‘)aL

Q_.gi 20 chinchillas Ader S geas Hure acc 128

C\mnaLxlcfs /4950%2 _exp (j’m Hind “h ?’F‘XM
%m@« QXQ"’“I\
wq+ Sone ‘S>r<1 J ?(3):cg(l3 é'\\)ﬂf\
T =20= ) *
P(3)= 128 = 2057
3. A0aT _ 128 _ (.4
20 | 2o
Tﬂ g‘"@% (\ck '16(_ an CXFDNAJ‘\'a, MM 'S
\J f(x+| f(x}
m f&) d)(f—l: Ci?(‘q
- C *®i! c X
CO\K
- (Co\x)o\ ~ Co¥
/me =
= CX(a-1) = a-l|.
Cm q\m&\’k\ ‘Q\Ll'u(

Egusclatly, o= 1 “his s o defiiny
A S A . property



ME_

“tor oxpuantial goowh, T gmofh rfe is al

SFGSQ%'\&/ So J i e dwﬁ%@ X
a=l+c > |.

gg/ SO cabbits. E?al&‘x-'\ol\ 1M CIRases \m/ SWA each

YQQC
4) /f/,fwl A ,[z:mc
f]Dof{)u\oVk"\c)/\
[\J({J: 77(7():'2 QX
Given - B:SO) r=0-6, a= 147
P) = 50(16)° "
b) oo pronf rabbils aqﬁk,r g fears.|
P(s) = So (16)8 & 2)47.48

Rma\\\‘[., Z/‘/? Fa]alm'*S.

Lo ¥ L X yeacs Moo/c/{//!j The



